
 

           

 

 

 

 

SUB-MATHEMATICS, CLASS-IV 

CHAPTER -6 (WEIGHT) 

WORKSHEET (STANDARD) 

              

  Choose the correct option:                         

1.  5  Centigram  =____________g  

(a) 5      (b)    500       (c) 5000         (d) 50000  

2. Weight of a bag of cement  

(a) gram    (b) kilogram  (c) milligram   (d) Centigram  

3. The smallest unit of Weight is   

(a) kilogram  (b)gram      (c)milligram       (d)centigram  

Short Answer Type Question-I                                   

Convert:  72565 g in to kg and g  

5. Convert:  3 kg 15 g in to g  

6. Convert:  15kg 5g in to g  

Short Answer Type Question-II                                     

7. Find the sum of 3 kg 520g, 7kg 95 g, 11 kg and 200g  

8. Find the difference of 49 kg and 31 kg 286 g  

Long Answer Type Question                                                            

 9. A basket contains 65 kg 750g of fruits out of which 42 kg 150g are apples, 9 kg 750g  

are pears and the rest are mangoes. Find the weight of mangoes.  

Reasoning Question :   

10. Find the Weight of Water melon if  

Weight of  (Mango + Apple) = 1kg 100gm 

Weight of (Mango+Apple +Watermelon) = 3kg 50 gm 

 


